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XL 46 61 62 1237k S BT 162 227 248 475K 279 345 375 720 = ;HET 66 105 110 BEEEL] 85 120 137 257
AT 25 35 39 74| REBHET 227 338 296 634 (A 2K 307 392 389 781|ZBAHET 52 80 83 163| K SHET 49 I 83 154
$ECAET 46 51 56 107| L& HET 102 142 181 323| A3 56 48 59 107 (45 ITCHTET 31 50 54 104|745 Fr iR ET 37 64 70 134
HEET 84 106 101 207 |@5K BT 24 49 37 86|t EHHET 588 879 901 1,780 |42 1E S BT 21 37 46 83| fEIFZ E AT 14 25 30 55
FEHTHET 83 97 118 215 | HET 30 39 46 85| T AHT 75 121 113 234|¥5 TUET 97 114 128 242| t EHET 19 26 24 50
REHT 50 54 61 115\ & SHT 51 78 76 154 [T BT 84 131 128 259 | RATET 243 316 331 647| S HET 38 55 67 122
B RIFTET 285 396 385 781 |2 2B ET 215 301 281 582 (& —TH 76 97 115 212|3ZET 60 64 72 136 | ZF IR AT 61 88 88 176
J\BTHET 14 17 19 36| EHET 96 146 153 299|FWM_—TH 101 113 141 254 | BLET 114 133 119 252 |5 HET 32 67 64 131
L=k 19 28 4 69| 7K EHT 73 99 107 206|EM=TH 105 108 140 248 | {8 BT 458 583 578 1,161 % SHET 64 90 109 199
A RAT 25 34 42 76| fEHTHET 16 29 25 54(FEMEMT B 147 183 224 407 | H S THET 64 86 100 186 | KA B HT 22 34 54 88
R— T 33 35 33 68| A JIIFHX 386 475 423 898|EHATH 78 106 104 210|FfEAR 148 181 201 382 (M SHET 39 58 69 127
R MY 85 93 98 191|28E—TH 195 262 258 520 (AKX 23 35 26 61[HIBMX 121 160 156 316 | B AHET 37 59 56 115
R=FHET 26 27 36 63|FBETER 68 99 97 196|FTR—T B 158 225 259 484 |FEIE MK 153 204 214 418|ILBE—TH 60 73 93 166
RIVVER 452 543 576 1,119|BJIIX 5t 1,645 2,284| 2,228 4512|HAE=TH 196 255 268 523|#5 MET R X 77 99 101 200(ILE&E=TH 91 137 135 272
[iPAWE N~ 100 112 127 239| T HaEFET 89 132 122 254|HRL=TH 161 242 235 477| =207 147 185 204 389|ILEE=TH 90 120 129 249
E/I\YERE 254 326 332 658 | i EHEFET 63 95 88 183(#F AT B 148 245 241 486| FEE—TH 66 89 80 169|ILEATTHE 121 123 145 268
NWES it 220 224 247 471 (/> LBT 22 37 35 72|HE—TH 149 188 185 3B|FEE-TH 125 152 185 337(ILEEETH 86 139 142 281
#EET 452 650 677  1,327| LHaESET 64 84 86 170| =T H 219 323 343 666|355 B HT 92 137 116 253|ILSEARTH 111 172 165 337
3] 19 21 19 40| A EFHT 68 92 86 178 |4t A BT 95 114 136 250 hEAMIX  Et 2,135 2775| 2878| 5653|lLEHX Et 1,056| 1,521| 1,660 3,181
AT 13 14 15 29|BFMX  F 306 440 417 857|dt=HEBE—TH 125 178 209 387 | FHART 180 240 236 476| FREE—TH 151 181 201 382
ERATR 19 22 27 49| R ILET 97 143 152 205t RAT/E_TH 169 239 285 524| = O#T 54 78 88 166| FREFE_TH 99 135 109 244
RETHET 20 22 30 52| ¥AZKRET 144 190 210 400| HBIERIIX Bt 3,339 4567| 4876| 9,443|5 FHT 96 127 128 255 FHREBFR=TH 152 189 195 384
TBET 95 102 108 210 |52 FEET 226 265 305 570 | f& L ET 209 278 308 586 | AR ET 194 292 315 607| FRERMTH 162 204 210 414
FAARHET 436 592 560| 1,152|dt BT 69 97 112 209 | AR 91 123 139 262|445 HLET 34 62 57 M| FRERETH 144 185 183 368
JEHEAR1E 107 105 126 231 | BAI3RRE S BT 16 26 21 47(HFE)IR 58 71 93 164| Z FLET 81 116 130 246| FRERATH 154 219 234 453
EHEAR2E 192 259 253 512K SHT 27 46 40 86 | JEAH)IIX 50 81 81 162 | &Iz HT 133 163 175 338|FREFAE—TH 130 168 162 330
JEHEARIX 63 51 80 131 | =R 7 61 89 150|481 78T 117 165 173 338| & RAT 53 88 94 182| FREFB_TH 135 182 179 361
JEHERAX 190 288 262 550| ZME#H—TH 134 195 204 399 |+ FH T HT 20 32 44 76 | F #h BT 16 24 31 55| FHREB=TH 135 180 197 377
JEHEARSX 341 419 456 875| LM 5t 784| 1,023 1,133]  2,156|HFKMK F 545 750| 838| 1588|#FIF—TH 83 11 114 225(FHREBMETE 103 128 147 275
JEHER6X 190 247 233 480| = fRET 133 147 203 350 = K ET 47 672 614| 1286 F1E=TH 52 77 70 147|FREBRTH 133 156 149 305
BXE-TH 143 159 164 323| AR 9 12 15 27| &= sk AT 424 556 568 1,124|#FF=TH 67 95 103 198| FREFBEATH 139 172 189 361
EH=E—TH 84 104 99 203|FHIR 1" 16 16 32|t tEET 42 66 73 139|#FFMTE 94 127 122 209 FREBETHE 175 229 254 483
EE-TH 102 118 144 262|BHX 10 13 13 26| = 5K THET 65 87 102 189|#FIFETHE 67 94 96 190| FR&FFE/N\TH 118 135 153 288
EE=TH 95 118 133 251[3E{LET 39 52 67 19| {RAT 38 56 54 110|#FIFATH 66 76 81 157| FREBE—TH 107 154 159 313
fAm—TH 99 110 17 227|£ ERET 24 34 30 64(/\FE FHET 51 68 80 148|BEK—TH 97 147 137 284| FREE_TH 148 210 202 412
Hm=TH 118 150 189 339|771 ET 42 50 69 119|/\ BET 129 181 194 375|BR—TH 56 71 73 144 FHREFIX 5t | 2,185 2,827 2923 5,750
H5—TH 68 85 89 174| /N1 ET 40 39 64 103 —IZ AT 58 69 72 141|MchitX 5t 1,423| 1,988 2050  4,038|H4HT 106 129 148 277
BB=-TH 120 175 145 320| £ #AET 33 40 50 90| & ERET 155 212 228 440 | #TET 400 538 502|  1,040|FAHET 100 116 123 239
*E—TH 131 144 157 301 | = {RERHET 101 159 158 37| REXRMR 360 517 487 1,004 | EEHT 125 176 173 349 |FEHAET 94 129 123 252
*EBZTH 93 142 134 276 | HAEFER 81 110 116 226| R EKHX 188 257 242 499| 1R FHET 323 430 396 826(FEfa— T H 110 127 131 258
KE—TH 150 174 210 384| = [RHET 67 100 87 187|RAER 111 151 141 292 | M hHET 354 531 503| 1,034|FH=TH 75 90 86 176
REZTH 79 81 91 172|SRHBX 5 590 772 888|  1,660|—1F#HKX 205 285 261 546 | IHIX 5 1,202| 1,675 1574| 3249|FEHM=TH 66 85 91 176
3% —TH 67 70 84 154 = ALET 140 226 232 458| HEViESE—TH 73 93 103 196 EIREFET 64 93 84 177
BH=-TH 60 73 81 154 K5k BT 82 128 137 265(HSVEE=-TH 114 144 152 296 REIREFHET 97 124 116 240
#%=TH 18 29 25 54 (¥AEEX 115 148 187 335(HSVHIE=TH 76 96 106 202 FE3EIREFET 76 91 92 183
BX—TH 17 164 187 351 |HHE—TH 144 120 170 290(HEVESEMT A 120 170 160 330 BmERE—TH 71 80 87 167
BHX=TH 7 7 5 12|HH#R-TH 63 78 77 155|/\A#H KX 87 123 131 254 EERX 58 58 76 134
BEXETH 101 115 140 255K KH X 84 119 121 240(fBHBEX 5t 2,767| 30803 3768| 7,571 NEHMX 5t 917| 1,122| 1,157 2,279
BRATH 53 68 73 141 (FFH LR 116 165 169 334

BAtTH 111 133 150 283 (R H PR 50 64 73 137 MEMIE § 26,066( 34,647 36,025 70,672
BHXNTH 120 164 176 340 | FFHAEMX 49 70 55 125

BAATH 1 1 4 5|# HEX 195 262 289 551

BXx+TH 18 19 14 33[—AMIX Bt 1,038 1,380| 1,510 2,890

HAR—TH 24 24 26 50

HARZTH 73 114 116 230

HA=TE 98 148 153 301

MEMX 5t 6,134| 7,720| 8,125 15845
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=X)IIFEET 33 33 44 77(/\BHET 133 175 201 376 | YR R BT 123 166 172 338N RT & 42 63 84 147 ([ #E BT 44 63 69 132
=)IIFETER 153 215 232 447| = =HT 47 69 7 140 |F 3R BT 219 262 294 556 | ;A RRTIiE 37 43 45 88| FAAETHT 23 34 38 72
=) HETFE 38 49 57 106| & LLET 218 304 341 645 | 3& & FHT 241 356 378 734 | AN ET 1= E 105 134 165 299|773— /LBl 30 48 44 92
E)IFETER 123 150 165 315|ch ST 48 80 84 164(BAX—TH 94 145 140 285 NETEY DB 52 7 78 149 |;a] & BT 59 83 98 181
EJNIE(d:ari) 32 42 48 90 (R A LLIET 45 77 70 147 |3 & F T 40 61 57 118 NETS LA E 57 72 67 139| % = HT 41 47 45 92
EJNIBl4: S 40 43 52 95| —/BHIX 5t 491 705 767 1,472 |8 A R AT 36 68 66 134T NET O EE 15 22 23 45| T EFET 42 71 74 145
EJNE ) 46 56 57 113| B8k < BT 106 101 113 214| 7R 2HET 64 98 106 204 [AINETHE B 3 3 5 8| L EFHT 102 163 173 336
E)IFETR 34 42 45 87| BB HTHT 91 121 131 252 | F T EHET 159 226 231 457 [T R ET B2 jth 6 4 6 10| = 3R HET 32 43 48 91
EJNE R 55 70 66 136| &8k ABT—T B 30 40 46 86(BALEM T H 185 252 257 509 ;AT BT AR 21 25 43 68| FTHHE 25 22 34 56
E)IKARETR 27 28 39 67|88k ART—TH 30 35 46 81(BAX=TH 17 138 149 287 [SATNETRR £ 9 10 12 22| EHE 20 29 27 56
EJNE i) 35 27 46 T3|EBEARI=TH 40 61 66 127|50& BT 133 188 193 381 [SATMETHR 17 19 18 37| B = HET 59 75 92 167
ENISETR 151 184 216 400 |EREARTM T B 200 259 264 5235 A ET 177 264 268 532|iR I ET & 6 4 3 7| BI'E Hi BT 17 23 24 47
EJNECESE 44 43 57 100|827 B AT 155 186 212 398 | BAEFHET 100 149 156 305 ;A NET T 7 4 4 2 6|+ FRET 47 48 45 93
X HERTR 72 103 105 208 | &8 K& IR AT 112 129 136 265 | EAEF AT 84 97 106 203 ;AT NETHE 19 20 21 41| #FEKET 29 34 43 77
EJNP:ar) 88 91 114 205|#53k L 3RAET 34 37 44 81| &P AEHT 91 114 12 226|;gAMIE  § 393 494 572|  1,066|i%;:EHET 16 19 22 41
X)IERTR 104 134 130 264 |#53K T RAET 29 33 42 75| =S AT 322 429 425 854| THE 62 87 88 175 | ZE HEL T 14 11 13 24
EJNE NN 39 46 52 98(#BK A 35 44 42 86 | FTAEBAERT 33 44 38 82( EEF 99 105 126 231 (=" 4AHT 4 1 3 4
EJNEN/N:ES 82 80 90 170| &R &N <F AT 174 207 231 438| MitX &t 2218 3057| 3,148|  6,205|%k%E DR 54 81 70 151 |BusaRT 3 3 2 5
E)IFKRETE 196 280 285 565 | #8k BT 84 98 121 219| B BT 175 254 272 526|1&£ B 19 32 36 68 | B F BT 10 9 9 18
EJNEPaES 242 264 306 570 |#53k K F BT 33 35 40 75|F QBT 127 180 210 390 KPIE 16 3 13 16| E+ &8 0 0 0 0
ZX 5t 1,634 1,980 2206 4,186|#2E XEHAT 212 264 275 539 (K AT ET 61 91 96 187 |#AK 33 23 37 60 | 40 BT 2 2 0 2
REHRT 271 355 401 756 | &8k K E FEET 90 141 150 291|BA;% ST 21 29 35 64 (TR 35 55 49 104 | B5 3t BT 0 0 0 0
FEgAT 258 326 339 6658k KFET=TH 8 10 11 211787 62 92 96 188| T K& 25 39 41 80 |48 HT 22 29 47 76
FHEHHT 40 58 60 118|EBRKFET=TH 56 81 95 1765 / ERET 41 63 77 140 LK ;& 25 29 30 59| Z;E/KAT 42 49 61 110
KIEAT 50 79 73 152|#8kKFETET B 30 37 41 78| REFH 55 71 76 147| KB 12 15 15 30| FTEHAHET 62 83 100 183
FERSLET 139 226 214 440 |83k B & HT 29 38 50 88| /RET 51 71 73 144|hE 51 48 53 101| L5 AHET 43 57 65 122
B BHT 276 369 398 767 |ESRMIX 5t 1,578 1,957| 2,156  4,113|4eKHET 23 31 34 65| S HME 5t 431 517 558  1,075|Fa{£ RET 32 51 53 104
SEthET 74 106 111 217| A 4SHET 235 348 372 720| B 17 H i 305 392 416 808 ZYEHET 55 82 106 188
Boy)if:i g 241 312 333 645|/INIET 188 253 272 525 |-C R ETHET 154| 208 224 432 SR L ET 46 63 73 136
HEHT 309 424 445 869|BAX_—TH 155 206 190 396 |#5 5k 5% SET 207 272 288 560 UN:ioa 5200 5 5 6 11
BB 13 14 21 35 [/MIIFTET 89 114 136 250 | R ARFTHT 154 215 214 429 JA4THE 17 25 13 38
EETHE 134 227 210 437| B {5 -FET 270 370 408 778 |eh /BT ET 10 18 14 32 Stz 5 943| 1,272| 1,427 2,699
EETX 118 187 205 392 (B SETIL/FE 45 54 65 19| H O 8T 54 84 90 174 =55 55 61 72 133
BEETH 117 204 192 396 |FHSETE /K 24 33 36 69 |4 ARHTHAT 137 206 202 408 A 5 5 4 9
IREX § 2,040( 2:887| 3002| 5889|BABHETHK 50 72 75 147 [$B/BIX 5 1,637 2277| 2417| 4,694 BF 84 86 111 197
EEX 48 68 71 139 |BA B ETF/+F 38 49 56 105 ZR 31 26 44 70
EAT2X 52 55 81 136| &/ R HHHET 28 38 41 79|88t § 8,117| 11,061| 11,582 22,643 ®=0O 23 21 22 43
EBT3X 45 52 62 114|EHS&AHET 79 123 120 243 R 8 6 6 12
EETAR 49 55 70 125| EFSHT 52 77 73 150 Bra 1 2 1 3
EET5X 126 166 175 341 | FHSHT 84 127 108 235 HPREFX 25 32 38 70
EET6 X 149 172 186 358|FZREEHT 168 250 228 478 EOiig 3 232 239 298 537
EET7X 36 51 53 104| HHESEHT 228 311 289 600 =] 270 340 356 696
EET8X 91 97 112 209 | FSHT 250 323 323 646 ) 89 101 103 204
EETOX 108 111 123 234|db 7% SET 130 179 179 358 THER 0 0 0 0
EET10K 230 291 318 609 |76 7 SHT 27 39 36 75 BUEhis 5 359 a4 459 900
AR 8 13 11 24P R EHET 53 99 87 186

EE12K 157 256 245 501 | &L 5 2,193| 3065/ 3,094 6,159

EfX 5§t 1,099 1,387 1507| 2894 & 5 41,314| 54,925| 57,636 112,561
ESNlhicic e 4773 6,254 6,715 12,969




